Constable GD in Central Armed Police Forces CAPFs SSF Rifleman GD in Assam
Rifles Examination 2024

[Exam Date 22/02/2024
Exam Time 9:00 AM - 10:00 AM
Subject [Constable GD Examination 2024
Q1
Ans 1.
2.
3.
4.

Q.2 Eight boys Bl, B2, B3, B4, B5, B6. B7 and BS are sitting in a row facing towards the north (not necessarily in the same
order). B6 is fifth to the right of B1. B4 is fifth to the right of B5. B5 is to the immediate right of B1. B8 is third to the
left of B4. B2 is third to the right of B7. B7 is an immediate neighbour of B1. Who is sitting on the immediate right of

B2?

Ans  »1 BS
2. B7

3. B3

4. B6

Q.3

Ans 1 WO38
2. WO36
3. VO38
4. VO36




Q.4

Ans

1. Mother
2. Sister
« 3. Daughter

4. Wife

Q.5

Ans

f7*5@10#20=370and4*3 @5 # 30=290, then

2*3@A#5="
1. 19
2. 27

3 29
4. 21

Q.6

Ans

1. 5
2. 17
v3 R

“ Q




Q7

Ans
1.
2.
3.
& 4
Q8 1In the following question. select the missing number from the given series.
85, 84, 92, 83, 147, 7
Ans 1130
2. 120
3 122

4. 131




Q.9

Ans s 1. IQUO
2. OCSN
3. RDHH
4. MLUK

Q.10

Ans

Q11 A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

RT, VT, VX, 7X, ?
Ans 1. 7R
2. RM
V3 7B
4. 70




Q.12

Ans

s
|

3
|

TR |IFLA [Tow | w
I
+

|
+

Q.13

Ans 1. Recess
+ 2. Receive

3. Recant

4. Recent

Q.14 Select the option that is related to the fifth letter cluster in the same way as the fourth letter cluster is related to the third
letter cluster, and the second letter cluster is related to the first letter cluster.
AWESOME : EWASEMO :: IMPRESS : PMIRSSE :: CONFUSE : 7

Ans 1. NOCFESU
2. NOFCESU
3. NOCFSEU
4. NOCFEUS




Q.15

Ans

4

Q.16

Ans

& 3.




Q17 In a certain code language, ‘EATING’ is coded as ‘ELGRYC’. What is the code for ‘COFFEE’ in that code language?
Ans 1. CCDDNB
+ 2. CCDDMA

3. CCDDME
4. CCEEMB
Q.18
Ans 1.
o 2.
3.
4.
Q.19

Ans 1. RHAKOI
2. RHAKO?2

S RYZIC3

4 RYZIC2

Q.20

Ans 1. 80
2. 81

3. 88

4 84

Section : Part-B-General Knowledge and General awareness

Q1 Disrespecting of National Flag is a violation of which of the following Fundamental Duties mentioned in the Indian
Constitution?

Ans o 1.

2.

3. Article S1A(b)
4. Article S1A(c)

Q.2
Ans 1.
+ 2. Ratan Tata
3.

4.




Q.3

Ans 1.
2,
« 3. to promote usage of alternative fertilizers and balanced use of chemical fertilizers
4,
Q4 On the bank of now dry course of which river, the ancient city of Harappa was built?
Ans ' Gandak
+ 2. Ravi
3. Kosl
4. Yamuna
Qs
Ans
2,
3. GDP
4. PRCS
Q.6
Ans 1
2,
3.
4.
Q7
Ans 1. Sarod
2. Guitar
« 3. Sitar
4. Tabla
Qs
Ans 1. Tus soli

2. Prohibition




Q.9

Ans 1. Sattriya
2.
3. Kathak
4. Manipuri
Q.10

The Simon Commission arrived in India in

Ans 1. 1931

2. 1919
3. 1922
v 4 1928
Q1 The proportion of the population below the poverty line is called the poverty ratio or
Ans 1.
2
3.
4,
Q.12
Ans 1. Hindu
2. Christian
« 3 Sikh
4. Parsi
Q.13
Ans 1. Lawn Tennis
« 2. Cricket
3. Badminton
4. Football
Q.14
Ans 1.
2,
3
4. Biswabhushan Harichandan
Q.15
Ans 1. Spain
2. Portugal
3. Japan

" 4. Indonesia




Q16 Rukmini Devi is regarded as one of the most distinguished artists of
Ans f 1.

2. Kathakali

3.

4.

Q.17 Who of the following is an agricultural scientist who has played an important role in the green revolution in India?

Ans 1.
o 2.
3.
4.
Q.18

Direct change of gas to solid without changing in to liquid is called .
Ans 1.
« 2. Deposition

3. Evaporation

4. Sublimation

Q19 A football match is played by two teams, each with a maximum of

Ans f 1.
2.
3. five plavers
4,

Q.20

Ans 1. Tamil Nadu

3.

4.

Section : Part-C-Elementary Mathematics

Q1 The simple interest on a certain sum of money at rate of interest 6% per annum for 2 vears is Rs. 960. What is the

compound interest (compounding annually) on the same sum for the same period and at the same rate of interest?

Ans 1. Rs.985.4
+ 2. Rs. 988.8

3. Rs. 11222

4. Rs. 1025.1




Q.2

If the diagonals of a rhombus are 48 cm and 64 cm, then what is the perimeter of the rhombus?

Ans 1. 120 cm
2. 75 cm
3. 225 cm
4 160 cm
Q.3 Price of 1 kg of wheat is increased by 50 percent and the increase is of Rs. 25. What is the new price of the wheat per
kg?
Ans 1. Rs. 45
2. Rs. 60
3 Rs. 75
4. Rs. 55
Q.4
Ans 1. 3 hours
2. 3.5 hours
3. 4.5 hours
4. 4 hours
Q.5
Ans 1
2. 11.11 percent
o 3.
4.
Q.6 The average of P, Q, and R is 40. If the average of P and Q is 35 and the average of Q and R is 45, what is the value of
Q?
Ans 1. 32
2. 40
3. 28
4. 48
Q.7
Ans 1. 8§
2. 7
&3 5
4. 3
Q8 IfM:N:P=3:7:5andP:Q=1:2, then what is the value of M : Q?
Ans

201
2.2:3
3. 1:3
4 3:10




Q.9

Ans 1. 45 days

« 2. 40 days
3. 50 days
4. 36 days
Q.10
Ans 1. 500
« 2. 600
3. 700
4. 850
Q.11
Ans 1.

2. 100 percent

3.

4.

Q12 1f the difference between the two numbers is 30 percent of their sum, then what is the ratio of larger number and smaller

number?
Ans 1..14: 3
2. 12:5
3 13:7
4. 15:7
Q.13
Ans [
1. =
9
3
2_ —
7
37
&3 —
90
4
4. =
9
Q.14

Ans 1. 3789
2. 7857

3. 1845

4. 3658




Q.15

Ans &1 40 days
2. 52 days
3. 47 days
4. 45 days

Q.16

Ans o 1.

Q17 IfX:Y
Ans 1.6:15
3
5
8

Q.18

Ans 1. 20
2. 27

3. 22

o 4 43

Q.19 The simple interest received on a certain sum is Rs.1782 for 3 years. What will be the simple interest on the same sum

at the same rate of interest for 10 vears?

Ans 1. Rs. 6940
2. Rs. 6800

3. Rs. 5940

4. Rs. 6840

Q.20

Ans 1. Rs. 52,700
2. Rs. 52,000

« 3. Rs. 50,000

4. Rs. 51,500

Section : Part-D-English




Q1

Ans o 1.

Q.2

Ans 1.

2. Pranked
3. Sedated
« 4. Neglected

Q.3
Ans 1. Colic
2. Serene
« 3. Ease
4. Gloomy
Q4
Ans 1. No error
2.
3.
4.
Q.5
Ans f 1.

2. No improvement
3.

4.




Q.6

Ans o 1.
2.
3.
4.
Q.7
Ans 1. Most
2. Quite
3. Little
4. Very
Q.8
Ans 1. was been
2. are
+ 3. has been
4. had being
Q9 Select the sentence with no spelling errors.
Ans 1.
2.
3.
4.
Q10 gelect the incorrectly spelt word from the given sentence.
As a jazz lover, I want people to embrace the music for its entrinsic qualities, not its symbolic resonance.
Ans 1. qualities
2.

+ 3. entrinsic

4. embrace




Q.11

Ans 1.
2. No error
3.
4,
Q.12
Ans o 1.
2,
3.
4,
Q.13
Ans f 1.
2,
3. No improvement
4,
Q.14
Ans 1. stingy
2,
« 3. generous
4. miserly
Q15 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.
She promises to meet me at her mother’s house yesterday.
Ans

1,
2.
3.

4. No error




Comprehension:

SubQuestion No : 16
Q.16

Ans 1. bark

2. waste
" 3. trap
4. hang

Comprehension:

SubQuestion No : 17

Q.17

Ans 1. of
2. at
3. on

¥4 In




Comprehension:

SubQuestion No : 18
Q.18

Ans 1. rather than
2. of

3. that
« 4 due to

Comprehension:

SubQuestion No : 19
Q.19
Ans 1 further
2. far
3. for

4. farther




Comprehension:

SubQuestion No : 20
Q.20

Ans 1 suchas

2. such
3. 50

4. like as

Section : Part-D-Hindi

' Pofated area & Waifed Wi & [ ue e wee 31 S|

AR amE S
Ans o 1. ﬁﬁlﬂ
> R
5. foreg
S SUIEEIE]
% fau e are H X@ifhd e &1 digd Vee Jd PITWT|

39! fia1 7 %! 26 8
Ans 1. Tlé:[
2. %"
3. Tl
4. a-\r

Q3 R g &, 9% Rt F ¥, 30 BeeT #7997 =Y 3 Neg e ¥ v 5@ s9ess @
arer faweT &
a9 & g & g9y F1 Tatg

e R

2.
3. ;M
=]

4 TBar




Q.4

Ans

o o &, I et # @, 39 OFeT &1 9= &L 37 & 7 Arifed &1 F@er 312 aren
e ¢
IR o Fr I R FI9T 9

. Hem ¥ e g

v GE % AT 9gd 413 f&Et & fow s §
3. Al el J 9 TEIAr & T H=r
4. HTHAT G

Q.5

Ans

fU 770 91e § ¥ 71ad -t J1d SIfo|

Yl B EH Her THR TR il F g g ol
1, aﬁq:ﬂ
2 g4
3. affat

& 4. 3{@

Q.6

Ans

FRfaRad vl |, IR [deddl T 9, 39 [ddhed &1 999 &< ol ®I8D o QU U Weg o (G Xsq &1 Yol [ddhed ¢ |
2 ARl 9§ 91d $¥d THY g9 (HHY) qult &1 IYTNT 31 918U

1. hH

2. &g
v 3. HYY

4 HBR

Q.7

Ans

f3U 71U a1 H YEifded Usa &l faalid Xsg J1d Sifog|

TrHrg 3 ot f var R fAadr g
1. HIdAT
2 Hra

3. érq_[ﬁq

4. HIE




Q.8

Ans

el s &, 30 Fe & g S At § Fa sl §) o # e a9 E
ar g I 7§ F g A

AT 3T FEE F T F A FE 0 F o F T @ ® § 3 =9 ven ¥ wdemmway ¥ &t o
& Fbr e quar & e &

1. Befaa & @ § 3R 39 voR ¥ Fdemawr
v2 % & Fr & Fhr Rewm e ¥ Fer

b

4 A FT FEEI F T H I FE T F T H

Q.9

Ans

FofaRad Uy 7 IR [9hed ¥ U, 39 fadhed &1 997 B Sl SIS H 6T T Weg & faalH e &1 T8l fddhed 3|
gH (GHTa) &I AR &1 T TR |

v 2. GEHIGAT
3. fapfd

4. SIGIEI

Q.10

Ans

Fafed Uy § IR [APedl 7§ 9, 39 [d5ed &1 999 & o Nad ™M & o I8t WifeT &4 aren fdeed gl
HAH ST TSH Pl PG Y|

1. HHI
2. T

3. gqTdT

- I

Q.11

Ans

& 7Y a1y § Ifd vaiaar! Wse &1 99+ S Rad RIF & gfd H1 |
___ (ST W §6d gl 98 96d 4T

4 HRER

Q.12

Ans

T 71T I F [@ifed 2leg FT d=9 2l AT FHI=T]
=H #Y o915 &

1.@31‘@[‘

2.@31’

3 dH

=

“ ¥




Q.13

Ans

frrafafaa 9o &, fow 710 ox fwedt & &, 37 fawew & 797 & Ry o0 ggay & o9 &t
TS T ¥ eUed T 2l

. 97 H g€ B

2. g2 | IIT oAl
V3 UFEe ¥ 92 H &8 g

4 =T STIAT

Q.14

Ans

f&T 1Y g1y § Ifed uaigare Wse &1 99+ S Rad R &I gfd H1|

e A HIBI__ (HEF) W
1. 3,,iT|:|'[
2 TR

3 TId
4. E{ﬁﬂ

Q.15

Ans

faQ 7 Tetw & o wrefe Wee 1d Sifom|
g1 ST Y Ugdl off Hcb

1. 3o

2. gﬂ'q

3. Q':E'II[
v 4 giH

Q.16

Ans

Comprehension:

ﬁ%%ﬂ@mrﬁﬁﬁmaﬁgﬁﬁmﬁ T HeJ=od & HIHA T fFeen g v &1 =w@
T F CAAIEF ¢ AR TR apedt H § Fafeaq® Iea e Ao I

I IOt & v Bae smeeys &, T 9l Fr gar §1 FEr & I g T 99 & Saa #) 59 gEes &
sTaeg off ea-gfafes a=r #r werg gt §1 I8 gEE RE-uaes FT OT FIAT
ST @ T S 7T w9 W A F U TS ¢ oA 99 gEr 7 gar A St Fr feew ey arfae
g Spla T T gEga AT #r Rffes genfadt & R & &1 F1F Fr g1 e R &
TR T e w e R I Y F TAT @S & Adg F{a &, =0T F
g T &, TS H B/ FI gl T T & ow e 3R FE & e 9HE T €
Fr F AR TF-gfafed Sfaa # 399T T A arer FF 3cAeT % 3cAeA & oI 39T i AT 2

SubQuestion No : 16

ST TETA F aras o RE-ufaka aat & FIS gIar ¢
L " &A
V2 I

3. Hldﬁﬂﬂﬁdldjﬂli

4 FAHAGR




Comprehension:

A R a3 argamer # Fo weg ofs (G v § 3% I=te & ¥As AR Twew & aw §) 59
T FH CAFAIEH ¢ AR TR fawedt H ¥ wafeaw e qem ReheT T4

I Tt & Ow Fas s § T A A oa g Fer A T § & 99 & Shew 1 I9 gEes &
sTeele o ReF-fafem ==t & FerE g ¥ uF wAE Re-aais T UROT FIET
ST @ | S A ¥ H HH & TS Tl ¢ oA 387 dear # gar AR dut Fr R et arfa
g wpfa T T gEga =an #r Fafdes gonfadt & T W #1 &3 o g1 T g &
qifEuas 35 &1 o e Rewr &1 ¥ 9w Fr FI FAIT W@ H A FId &, IaETor
YL FA &, TEIUT F W FS gl T FA F v o= I AR T & ve wHE W9 ¢
S F AN RF-gfafed Saa & 39T U S aer #F 3cAET & 38 & o 39T T ST 2

SubQuestion No : 17

g e R FT LROT FIST ST W@
Ans . HHT

2. 74T

v 5 EerTe

4. HTTIOT

Comprehension:

A T a3 wrgamr & Fo ueg o R v § 3% it & vee AN e R e # 3w
mrﬁmﬂmqﬁaﬂtmﬁ?ﬁﬁﬁmmwmaﬁl

I Tt & R ae s g, :Ermfrﬁqm%wsﬂw%%aﬂé’rm%mmﬁ#
s o fem-sfafea == & Ferg A 71 7@ wEE Ra-vfatta T GROT FHIAT
ST @ T S 7 ¥ W HH F U T ¢ orme a3 g 7 gar Ak diat Fr e et arfie
g wpla F ¥ gEga =En #r Fafdes gonfaat & T = #1 &3 o g1 e e F
afiifEufas a9 & v e e &1 3 a7 & F FAIT WS H Feg Fd &, IATE0T Hr
IE FA &, TS H W F g1 T TS F v o FETE AR FHE F U IHE @ §
S F AR Ra-vfafea Saa & 39aeT T e aer #F 3cAET & 3cAeA & oI 39T fr ST 2

SubQuestion No : 18

Ypia Fr ¥ GIEIT TTATT &1 Ffee gonfast & BT W #F1 F17 F@r §
Ans 1.@
2.,—.|ﬁ-qﬁ-
S Ll




Comprehension:

A T 73wy & Fo weg o B v § 93w agede & vAe A e e aw 71 3w
T F CAFAIEF ¢ AT TR fawedt H F wafeaw e qmem ReheT I

I Tt % O Fas s § T A Froar g Fer e T § & 99 & Shew 1 g9 gEes ¥
sTaee off Ra-ufafea ==t & IS BT &1 77 wAE ResRie TT YO FIST
ST @ §| ST A ¥ H HH F TS bl ¢ oraA a8 e # gar AR dut Fr e et arfae
g wpfa T T gEga =an #r Fafdes gonfadt & T W #1 &3 o g1 e e F
qifEuas a5 &1 o e Rewr &1 ¥ o Fr FI FAIT W@ H A FIa &, IaETor
IE FA &, TS H W F g1 T TS F v o FETE AR FHE F U IHE @ §
S F AR Ra-vfafea Saa & 39aeT T e aer #F 3cAET & 3cAeA & oI 39T fr ST 2

SubQuestion No : 19

O Fag Fr FI FAIT W F ALE S 2
Ans 1 3YTERTRAT

v 2. SAeEr

S CEEr T )

4.;131%-

Comprehension:

A T a3 srgamyr & $o weg o RF v § 3% ae=te & vEe O e e aw § 5w
wrﬁmﬁﬁﬁmﬁ?ﬁﬁﬁmmwmﬂﬁl

I TifvrEt & e fae s E ﬁﬁsﬁﬁw%wﬁrsﬁw%%aﬁﬁrm%mmﬁ#
T off femufafem o=t & FerE g ¥ u7 wAEEdT Ra-vaks FT UROT FIET
ST @ T SO J F9 @ #fH F7 v et ¢ o a3 dwa 7 gar Ak didt & Rt et arfae
g S F T gEgRa T #r Rffes sologl & Be | & &7 w9 &1 FJoe e F
gitfffas dr ar o e Rewr &1 o & I TATT (W7 & AGE F{d ¢, Iarador &
YL TS &, AT H W FJ g1 T T4 & ow o= e AR Twd & ve wHE 9 ¢
Fr F 7N Ba-afate Sfea 7 399 5T = 9 2 30906 F 3098 & oY 394 #T ST 8

SubQuestion No : 20

¥ raERiF RT3 R aed & o 95T 9 £
Ans I Fafraed

v 2. QThiceh

3. o=

4w AfEe






